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1 AxP R 1/ 4 3:49.27
29. 71 59.73 1:28.53 2:01.04 2:26.17 2:55.82 3:21.76
1 LR 53] X3 (0.92) 29.71 59. 73
2 Bl i X3 (+0.00) 28.80 1:01.31
3 IKEHE AR X3 (+0.07) 25.13 54. 78
4 EfE o) K1 (+0. 17) 25.94 53. 45
2 WA AR 1/ 3 3:52.84
-Joc (CS)
30.15 1:00.17 1:29.28 2:02.28 2:28.34 2:59.88 3:25.22
1 ME BA =3 (0.64) 30.15 1:00.17
2 WEH % E2 (40, 10) 20.11 1:02.11
3 W Bk 3 (+0.22) 26. 06 57. 60
4 B 53] 3 (+0.31) 25. 34 52. 96
3 Vi AKSC4A:HT 1/ 5 3:55.82
29.03 59.89 1:31.50 2:07.89 2:33.35 3:01.99 3:28.01
1 WmQp Hze =2 (0.5D 29. 03 59. 89
2 ey EH 3 (+0.16) 31.61 1:08.00
3 EHR R =2 (+0.12) 25. 46 54. 10
4 B KR =2 (+0.29) 26. 02 53. 83
4 VY AT R 1/ 2 4:03.26
29.87 1:00.46 1:31.45 2:06.73 2:34.12 3:07.04 3:33.65
1 FH FIK w2 (0.60) 29.87 1:00.46
2 WEH  WEHL 3 (+0.20) 30.99 1:06.27
3 RE R 3 (+0.67) 27.39 1:00.31
4 A% HIE =2 (+0.20) 26. 61 56. 22
5 WAt/ ARER 1/ 6 4:16.13
31.72 1:05.77 1:37.58 2:14.27 2:42.94 3:17.12 3:44.08
1 AR K = ( 0.67) 31.72 1:05.77
2 /T JAE 3 (+0.32) 31.81 1:08.50
3 FE wEA w1l (+0.38) 28.67 1:02.85
4 K SRR =1 (+0.07) 26. 96 59. 01
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